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General Instructions :

(i)  The question paper has 30 questions in all. All questions are compulsory.

(i) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are very short answer type questions. Each
question carries one mark.

(iv) Questions from-serial number 9 to 20 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

(v)  Questions from serial number 21 to 28 are 5 marks questions. Answer of these
questions should not exceed 100 words each.

(vi) Question number 29 and 30 are map question of 3 marks each, from History and

Geography respectively. After completion, attach the maps inside your answer
book.

1 e H 18 o WSt H forem! ol 2153 ek <o fohd ahig 1 BT 17 1
To whom was the taxes called Tithes payable by the peasants in the eighteenth century
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France?

et o SR aRE R % ot I - ARl wE S 82

Which landform lies between Western Ghats and the Arabian Sea ?

A G TSIl 9 YR o uivem # srafed €2

Which neighboring country is located in the west of India ?

STAYTEN, oI 0T SHTed fohd il HEcerqul FeTae AQa § 2

Amaravati, Bhavani, and Hemavati are important tributaries of which river?

= 1 HEE w1 AW fear T g

What is the name given to the Parliament in China ?

AR Gie™ 1 gedie 8 Sfeafad ‘=’ 9 = sfayrm e ?

What is meant by ‘justice” as mentioned in the Preamble of the Indian Constitution ?

ot # YA o ST foh YRR o1 ST HaEelT &1 3TTS theh Tl 7911 ?

Which form of government was overthrown by Pinochet in Chile ?

HITE Yol HEA Yot ok €9 H ST ST 2

Which capital is known as working capital ?

14 SE 1789 1 4R& TR H g =1 ol U hifog |
Describe the events of 14th July, 1789 in the city of Paris.

HATSTEE! G & JTY § el Ao o FagIl ot oAmean shifsig |

Explain the concept of Karl Marx about socialist society.

219191/ OR

T AT H STeifsd T STl TarE! ohi g9 a1 |

List the communities which were classified as undesirable in Nazi Germany?
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11 &Y Y Shif< & Yo fohd Yehr hi tefezrereer off ?

What type of an economy existed in Russia before the revolution ?

3rgET/ OR

rediae o Ufd SHAT Rt YT ST 1 Sfafsean dt ot ?

How did common people of Germany react to Nazism ?

12 390 UeM % 39 9N %1 A fAfe St QU seire gt @ a1 @ 35 8 & feriand off fafe |

Name the part of the Northern plains which is formed of older alluvium. Mention any two
characteristic features of it.

13 e TR0 qen sttt 9§ Jfeat fhe yehr vgfd S € 2

How do rapid urbanisation and industrialisation catised river pollution ?

14 Y9 TSl <91 o 9o U, YR o frafd et auie Fifse |

Describe India’s location with reference to her neighbours.

15 femfe St feamerer 9o 9 forg g =1 ®2

How is Himadri range different from Himachal range ? Give three points of differences.

16 3T YAl I TS RISIC S Chd = I ek Thel e TSHd 39 © |

Identify the values'which make democracy the most successful form of government.

17 'TFRTOT STHIRT | T 9 ! HIfq T 9 § 3799l o fau SRt off ' SUYa deh < L 59 HA i
qfte IfST |

“The apartheid system in South Africa was particularly oppressive for the blacks’. Justify the
statement with arguments

18 Tha s Tl ST S Faensli ¥ 7 ST il © 7 o fogsti # oym shifaq |

What distinguishes democracy from other forms of government ? Explain by giving three
points.
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afeier fopameRatd o1 @ 31l 2 39 <1 Y@ a9l i e Hifs |

What is meant by the term economic activity ? Explain its two major divisions.

et fofor § Tamees i fiert S T8 HIfT |

Explain the role of health in human capital formation.

i T 1789 ki shifd & s1g AN A @[ Staq o fhd TR 1 e <@ ?

What changes did people witness in every day life after the Revolution of 1789 in France ?

®H W TG o T o Ul STehiEHeh SHRoT 1 & ?
What triggered CIVIL War in Russia ?

1941/ OR

1933 H 91 H M % o¢ feeo’ EN 3IUE T8 USHITas Hifd shi fh=l dr= fosivasd i samen
IS |

Explain any five features of political policy adopted by Hitler after coming to power in 1933.

Ui qer Heri 1 forel i fosivaret o1 feero <ifsu |

Describe any five features of the.western coastal plains.

" hae AreRds H & AT % TE H Tgfg St 71" A9 foeR e s

“It is only in a democracy that the dignity of citizens is enhanced.” Comment.

AT FTAeTT H HEATTT ATeATA g [ATH TeqT HT 09 i o1

Describe the clauses for institutional arrangements in the Indian Constitution.

e H ferami o sita ofd % fomor st e wif

Explain the distribution of land among farmers in Palampur.

ISR o feRdlt 291 BT Y Steferaen W AfedRit U9 Bl 81" 39 e &l uie fogeil
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‘Unemployment has a detrimental impact on the overall growth of an economy’. Justify the
statement in five points.

28 TR a1 Tk fashfaa ia o & fau i uie &R fafew ) 5

State any five reasons to show that Palampur is a developed village.

29 fou gu wim & WmEftaA § A, B 3R C o @am fafed fhd o &1 = < Tl SRt 6 semR 3
WS AU hT TR SR AT H forfad Tenell W ST 9el AW fofe
(A) TH MR § gEfHd Th 9T
(B) ¥ &I <& § yHIfad Tk &l
Q) RS & 9l s &1 T Ty =
dre ;.  frafafea yo ae giesnfia udanteit & fag uos sk 29 & T W
(29.1) <9 MR ¥ Fafd Tk a4 61 99 fafag
(29.2) WG H ¥ &I @eX § AYAaq o &l =9 fatau)
(29.3) WH & HHAYE H fod Wike & 9l TW & yq@ &= w1 W fafau)
Three items A, B and C are shown in the given outline map of France. Identify these items
with the help of following information and write their correct names on the lines marked on
the map.
(A)  Portrelated to slave trade.
(B) Region not affected by the great fear.

© Epicenters of main panic movement.

Note : The following questions are for the visually impaired candidates only in lieu of
Q.No.29

(29.1) Name any one port which is related to slave trade.

(29.2) Name the southernmost region of France which was not affected by great fear.

(29.3) Name the middle east epicenter of panic movement of France.
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©

A)

g

oW I

fau gu wRa o TSI Y W, Fefated s Suge Hehdl g guigd T o W fafgg 3

X)
(Y)
2)
qie
(30.1)
(30.2)
(30.3)

IRd & A TR

dmfeen <

oot sl

FreAtafaa o shae gieanfia adianfeit & fog woT iR 30 & WA W E :
IR &% T, AR 1 0H 1 22

dHfeen < form U590 o srafte €2

et dia frg w0 o €2

On the given political outline map of India, locate and label the following with appropriate
symbols

(X)
(Y)
(2)

Note :

(30.1)
(30.2)
(30.3)

Standard Meridian of India

Bomdila Pass

Chilika Lake

The following questions are for the visually impaired candidates only in lieu of
Q.No.30

What is the value of Standard meridian of India?

In which State of India is Bomdila Pass located?

In which State of India is Chilika Lake located?
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SUMMATIVE ASSESSMENT - I (2014-15)
SOCIAL SCIENCE (Class - IX)
General Instructions:
1 The Marking Scheme provides general guidelines to reduce subjectivity and maintain uniformity.
The answers given in the marking scheme are the best suggested answers.
2. Marking be done as per the instructions provided in the marking scheme. (It should not be done
according to one’s own interpretation or any other consideration).
3. Alternative methods be accepted. Proportional marks be awarded.
4, If aquestion is attempted twice and the candidate has not crossed.any answer, only first attempt be
evaluated and ‘EXTRA’ be written with the second attempt.
5. In case where no answers are given or answers are found wrong in this Marking Scheme,
correct answers may be found and used for valuation purpose.
1 Church 1
2 Western Coastal Plain. 1
3 Pakistan 1
4 The Kaveri 1
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5 The National People’s Congress. 1

6 ‘Justice’ as mentioned in the Preamble mean that citizens cannot be discriminated on the 1

grounds of caste, religion and gender. Social inequalities have to be reduced. Government

should work for the welfare of all, especially the disadvantaged groups.

7 Democratic 1
8 Money in hand, Raw matieral 1
9 (a) Protest March by the people in‘France. 3

(b)
(c)

10 (1)

(2)
®)

Page 2 of 10

Fall of the prison Bastille.
In the countryside protests against the feudal lords.

The condition of workers could not improve as long as the profit was accumulated by 3
private capitalists.

Workers had to overthrow capitalism.

A communist society was the natural society of the future.

areraT/ OR
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3
(i) Gypsies and Blacks living in Nazi Germany
(ii) Russians and Poles were considered subhuman
(iif)  Jews too were inferior, threatening biological purity of the superior aryanrace.
11 (@) Vast population agriculturalist. 3
(b) Cultivators produced for the market as well as their ownneeds.
() Industry as private properties was found in pockets - factories set up in 1890s and
1900s
3FgeT/ OR
(a) Saw the world through Nazi eyes 3
(b) Some people even organized active resistance to Nazism
(c) Large majority were passive onlookers and apathetic witnesses.
12 . Bhangar 3
. Its characteristics are
(1) It lies above the flood plains of the rivers.
(it) Contain calcareous deposits.
(iif)  Present a terrace like feature.
Any other.relevant point
(Any two points ) (P-12)
13 (1) Excessive use of water of self - cleansing cause water scarcity. Which leads to inability 3

of the river

(2) Industries dump industrial waste into river
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3) The sewage of a town is dumped in river
14 . India located in North east Hemisphere 3
o India’s neighbours in North west are Pakistan, Afghanistan, Nepal and Bhutan in the

north, Myanmar and Bangladesh in the east.

o In the South, her neighbours are Srilanka and Maldives

15 Himadri : 3
(a) northernmost and highest range
(b) most continuous range

() average height is 6000 mts

(d) consists of lofty peaks, steep slopes, deep valleys (any three)
Himachal :

(@) lies to the south of the Himadri

(b) most rugged

() average height is 3700 and 4500 mts

(d) famous for hill stations (any three)
16 Values which make democracy the most successful form of government 3
are :

Democracy is the form of government that allows people to choose their rulers and form the
government. In a democracy, only leaders elected by the people rule the country and the
people have the freedom to express views, freedom to organsie and freedom to protest.
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17 . Blacks were forbidden from living in white areas 3
o Blacks could not work in white areas without a permit.

Separate trains, buses, hotels, hospitals, school, colleges etc. for ~ the whites andblacks

18 (@) Citizens must take part in politics. 3
(b) Democracy depends on active political participation by all citizens.
() The fate of the country depends on not just what rule do but mainly on what we as

citizens do.

19 . Activities that produce goods and services and add value to national income are 3
economic activities.
. Divisions
(i) Market activities
(if) Non - Market activities
20 ° Healthy Person contributes to.society 3

Efficiency and productivity increases
Enjoys better living and becomes an asset.

21 5

22 - With Bolsheviks.ordering land distribution - Russian army began to break up. 5
- Soldiers, mostly peasants Wnished to go home for redistribution.

- Non Bolsheviks socialist, liberals and supporters of autocracy condemned the
Bolshevik uprising.

- Their leaders moved to south Russia and organized troops to fight the Bolsheviks (The
‘reds’)

- During 1918-1919 the ‘greens’ (socialists) the whites (Pro Tsarists) controlled most of
the Russian empire.
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(Any five points)
3YAT/ OR
Five features of political policy adopted by Hitler : 5
. Suspended Civil Rights
i Communists sent to concentration camps
. All political parties and trade unions except the Nazi party banned in Germany
. Introduced the Enabling Act.
. State control over economy, media, army and judiciary
. Creation of special surveillance and security forces
23 (a) Narrow strip of rocky land along the western ghats and all along the Arabian Sea. 5
(b) Extents from Gujarat to Kaniyakumari along west coast.
() Konkan plain, Kannad and Malabar plains are its divisions
(d) More estuaries and lagons are found
(e) Very few rivers have access to these plains.
24 (@) It is based on the principle of political equality. 5
(b) Poor, rich, éducated have the same status
() People are not subjects but are rulers
(@) Even when they make mistakes, they are responsible for their conduct.
(e) Mistakes can be corrected by public discussion.
25 The Indian Constitution lays down a procedure for choosing persons to govern the country. It 5

defines who will have how much power to take which decisions. It puts limits to what the
government can do by providing some rights to citizen.

i)
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26 Not all people engaged in agricultural have sufficient land in Palampur -
(@) 1/3 rd of 450 families are landless - 150 families.
(b) Most of them are dalits and have no land for cultivation.
() of remaining 240 families who oven land, cultivate very small plots - less than 2
hectares.
(d) 60 families of medium and large farmers cultivate more than 2 hectares of land
(e) Few large farmer have landholdings of over 10 hectares or more
27 Detrimental effects of unemployment over economy :

(i) Leads to wastage of manpower resources,

(if) Tends to increase economic overload.

(iii) ~ The dependence of the unemployed on working population increases.
(iv)  Quality of life adversely affected.

(v) Unemployed turns into a liability.

(vi)  There is feeling of hopelessness and despair-ameong youth.

28 ° Palampur is a developed village :
) All weather roads
ii) Pucca houses
i)  Regular supply of electricity

iv)  Schools for education
V) Primary health care centres

(i
(
(it
(
(
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29

Bordaux, Nantes (Any one)
Marsellies
Louhans
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30

82°30'E
Arunachal Pradesh
Odisha

Finish
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